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LABOUR WELFARE
Paper - 11

Note : This paper contains fifty (50) objective type questions, each question carrying two
(2) marks. Attempt all the questions.

Arrange the phases of Hawthorne
Experiments in  their  proper
sequence :

(a) Relay Assembly Test Room
Experiment

(b) Bank Wiring Observation Test
Room

(c) Mass Interviewing Programme
(d) Illumination Experiment

(e) Counselling

A)  (b), (), (d), (), (&)

B)  (c), (d), (b), (e), (@)

©) (D, @, (), (b), (&

D) (d), (©), (b), (), (&)

The principle of ‘Unity of
Command’ is violated in

(A) Functional Organization
(B) Informal Organization
(C) Matrix Organization
(D) All the above

Coordination and cooperation are
(A) two different things

(B) one and the same

(C) dependent on each other

(D) more or less convey the same
meaning

Premature evaluation of message
takes place due to

(A) Semantic Barriers
(B) Psychological Barriers
(C) Organizational Barriers

(D) None of the above

Which of the following is/are new
challenge/s in the field of human
resource management ?

(A) Rightsizing

(B) Outsourcing

(C) Diversity Management
(D) All the above

Which of the following source is the
most relevant for recruitment of
managerial personnel ?

(A) Employment Exchange
(B) Advertisement

(C) Gate Hiring

(D) Trade Unions

What is broad-banding ?
(A) Clubbing manpower structure
(B) Integrating information system

(C) Flexible pay-banding allowing
grade mobility based on
performance

(D) None of the above
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10.

11.

Organize the following steps in job
evaluation in the sequence of their
occurrence :

(a) Preparing key or
benchmarking job

(b) Selecting comparable and
compensable factors

(c) Job analysis data

(d) Administration of Position
Analysis Questionnaire

(A) (0, (a), (b), (d)
B) (@), (c), (d), (b)
©) (@, (c), (b), (d)
D) (b)), (), (a), (d)

Who is associated with ‘The Human
Capital Approach’ of HRD ?

(A) Dalton E. McFarland
(B) T.W. Schultz

(C) T.V.Rao

(D) Rensis Likert

When the career progression
stagnates at a point, it is called

(A) Career Resilience
(B) Career Anchor
(C) Career Insight
(D) Career Plateau

‘Cousin Lab’, ‘Stranger lab’ and
‘Family lab’ are terms associated
with which OD technique ?

(A) Survey Feedback
(B) Managerial Grid
(C) Sensitivity Training

(D) Process Consultation

12.

13.

14.

Training Evaluation at Reaction,
Learning, Job behaviour and results
levels is the model advanced by

(A) Donald Kirkpatrick

(B) Goldstein

(C) Brinkerhoff

(D) Phillips

Which of the following statements is

not true about  Performance

Appraisal ?

(A) Key performance areas are
developed for role clarity.

(B) Key result areas are developed
for accountability.

(C) KSA stand for knowledge,
skill and attitude.

(D) Attributes and traits are of no

importance in Performance
Appraisal.
Match the following :
Leadership Leadership
Theory Factors
(a) Contingency (i) Personal
Theory vision and
energy

(b) Trait Theory (ii) Personal
drive, desire
to lead,
personal
integrity

(c) Charismatic (iii) Leader’s

Theory position
power, task
structure and
leader
member
relations

(@ (b) (o)
A) @) (i) (i)
(B) (i) () (@)
©) () () (1)
D) @) G (i)
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15.

16.

17.

18.

In  which of the following
transactions, stimulus and response
are parallel ?

(A) Cross Transactions
(B) Complementary Transactions
(C) Ulterior Transactions

(D) All the above

In Vroom’s theory, motivation is
expressed as

(A) Valence + Expectancy
(B) Valence — Expectancy
(C) Valence x Expectancy

(D) Valence + Expectancy

Which of the following is not among
the actions for change ?

(A) Changing
(B) Forcing
(C) Unfreezing
(D) Refreezing

“Formulation of rules and their
implementation are the bread and
butter of industrial relations” is
commented by

(A) John T. Dunlop

(B) Alvin W. Gouldner
(C) Allan Flanders

(D) Kochan

19.

20.

21.

22.

The term ‘Conjunction’ is a state of
relationship under which the parties,
instead of offering their best, offer
the least in the absence of which the
relationship will break, is developed
by

(A) Ian Clegg

(B) Neil W. Chamberlain
(C) E.Durkheim

(D) P.A.Kochan

In Industrial Disputes Act, 1947;
which one of the following is not an
adjudication Machinery ?

(A) Labour Court

(B) Industrial Tribunal
(C) National Tribunal
(D) Court of Enquiry

Which one of the following does not
come under the schemes of workers’
participation in management, 1975
& 19777

(A) Joint Management Council
(B) Shop Councils
(C) Joint Councils
(D) Unit Councils

The primary function of L.L.O. is to
formulate the international labour
standards in the shape of

(A) Conventions only

(B) Recommendations only
(C) Both (A) and (B)

(D) None of the above
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23.

24.

25.

26.

There is only one source of authority

— management. They own and,
therefore, they control — is the
argument of

(A) Pluralists
(B) Radicalists
(C) Trusteeship
(D) Unitarists

The Bombay Mill Hands
Association under the Presidentship
of N.M. Lokhande which is often
referred to as the starting point of the

Indian Labour Movement, was
established in

(A) 1878

(B) 1879

(C) 1890

(D) 1891

Which of the following is not
regarded as Trade Union Weapon ?

(A) Strike

(B) Check-off
(C) Picketing
(D) Boycott

Which of the following is not long
term objective of Trade Union ?

(A) Establishment of
Society

Socialist

(B) Nationalisation of Industries
(C) Parliament of Proletariate

(D) Higher Wages and Short hours
of work

27.

28.

29.

30.

The first union led by Maniben Kara
and Kamala Sinha (two women) in
India was

(A) HMS
(B) INTUC
(C) AITUC
(D) BMS

According to the Factories’ Act,
1948, which of the following is
correct ?

(A) 8 hours a day and 48 hours a
week

(B) 9 hours a day and 54 hours a
week

(C) 9 hours a day and 48 hours a
week

(D) 8 hours a day and 56 hours a
week

Which of the following benefits is
not found under the Employees’
State Insurance Act, 1948 ?

(A) Sickness Benefit

(B) Maternity Benefit

(C) Children’s Allowance
(D) Dependent’s Benefit

Which of the following is based on
contributory principle ?

(A) Maternity Benefit Act, 1961
(B) E.S.L Act, 1948

(C) Workmen’s
Act, 1923

(D) Old Age Pension Scheme

Compensation
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31.

32.

33.

34.

Indian Constitution was amended to
incorporate which of the following
Provision ?

(A) Payment of Bonus

(B) Workers’  Participation in
Management

(C) Provision of Gratuity

(D) None of the above

Which of the following legislations
makes Provision of 240 days of
service equivalent to one year
continuous service ?

(A) The Payment of Wages Act
(B) The E.S.I. Act

(C) The Industrial Disputes Act
(D) The Minimum Wages Act

The scope and coverage of which of
the following legislations was
recently extended to cover workers
drawing wages upto 15,000 per
month ?

(A) Maternity Benefit Act

(B) Industrial Disputes Act

(C) E.S.L Act

(D) Shops and Establishments Act
Employment Exchanges
(Compulsory Notification of
Vacancies) Act, 1959 and

Apprenticeship Act, 1961 represent
which of the following types of
labour legislations ?

(A)
(B)
(©)
(D)

Protective Legislation
Regulative Legislation
Social Security Legislation

None of the above

Paper-11

10

3s.

36.

37.

An employer has submitted Draft
Standing Orders to the certifying
officer for certification. Which of the
following will apply till the final
certified standing orders become
enforceable ?

(A) Nothing will apply

(B) Model Standing Orders

(C) Certified Standing Order of
similar organization in that
locality

(D) It will be decided by the
employer.

There shall be delegation of

authority in the welfare fields, either
by election to committees, or by
proper nomination, according to

(A)
(B)
(©)

Principle of Timeliness
Principle of Accountability

Principle of Evaluation and
Assessment

(D) Principle of Responsibility

The need for imparting necessary
education to workers in India had
been emphasised first by

(A) The Royal Commission on
Labour

(B) The Indian Industrial
Commission

(C) The Labour Investigation
Committee

(D) None of the above

D-55-10
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38.

39.

40.

41.

As per the Factories’ Act, 1948, a

creche will be provided in Factories

where more than

(A) 30 unmarried women are
employed

(B) 30 married
employed

women are

(C) 30 women are employed

(D) None of the above

Which of the following is an agency
for providing labour welfare
facilities in Factories ?

(A) Management
(B) Trade Union
(C) Government

(D) NGO

Which of the following is not
included under intra-mural labour
welfare facilities ?

(A) Canteen

(B) Creche

(C) Hospitals

(D) Shelter, Rest rooms

Which of the following is not a
characteristic of labour market ?

(A) Same wage rate
(B) More sellers than buyers

(C) Heterogeneity in labour

services

(D) Limited mobility of labour

42.

43.

44.

45.

Which of the following factors affect
supply of labour ?

(A) Population and Labour Force
Participation Rate

(B) Skill, Experience
Qualification

(C) Mobility of Labour and

Organization of Buyers and
Sellers

(D) All the above

and Job

Which of the following cannot be
said to be a type of wage
differential ?

(A) Occupational Wage Differential
(B) Geographical Wage Differential
(C) Inter-industry Wage Differential
(D) National Wage Differential

Fixing lower retirement age for
workers will result in

(A) increased supply of labour
(B) reduced supply of labour

(C) will have no effect on supply
of labour

(D) None of the above

Which of the following industries
lead to seasonal unemployment ?

(A) Sugar industry
(B) Construction industry
(C) Ice-cream industry

(D) All the above
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(B) shatsll @t T § fashdre &t
fyes | |

(C) &= Qansli § =MIeh oo |

(D) fHeRt =t GifHa TideiierT |

42.

43.

44.

45.

fr=fafad & ¥ @9 91 a gHH @
3T T AT T & 2

(A) SIS 99T SHE TEHIHTar 58
(B) HI¥TeT, 319, I & AT
(C) e =l Tiaeierdr o shared

SR Tersharat o dieq

(D) SUEd

feteiaa o ¥ fordt Heigdl fo=e o1 0o
YRR &l el T Tehel ?

(A) EHIES TG 3R

(B) wmifeteh J-Mgfl HR

(C) IAR-3TF Fe15Y TR
(D) T wSTgR 3feR

S T TIOTH ST B ?

(A) SIHeRI St AT g ST |
(B) SIfHeRi St (A = ST |

(C) &iHehl & 3MY(d T IS TH Tl
g2 |

(D) ST § 9 HiE Tel |

Fefafad 5 9 9 91 S G

éuwn& SCH~ enxdl % ?
(A) = 3=
(B) TwTorRE ST
(C) 3TEHSh T
(D) IHIeRT FH




Read the following passage and answer
questions from 46 to 50 :

For years the managerial
philosophers had called management’s
attention to its total responsibility. The
indication of a moral oughtness was there,

they  stressed. As  stewards  for
stockholders, managers had a prime
responsibility to the employees, the

customers, and the community — along
with their well-recognised responsibility to
the owners. By and large, these early
pronouncements apparently fell on deaf
ears. By the mid-thirties, however,
heartening signs began to appear. In 1937,
for example, Raymond Moley declared
that while management remained legally
and ethically a primary agent of the
investor, its secondary responsibility to the
public and labour had become relatively
greater. Four years later, Roger D. Lapham
asserted that in the narrow sense of the
past, management had been considered
solely responsible to its ownership — its
stockholders — but there was a growing
conviction that in the broader sense
management’s duty to its customers, to the
public, and to its employees came first. By
1951 this view was well established, and
Frank Abraham’s writing in the Harvard
Business Review enunciated the new
philosophy when he indicated that the job
of management was to conduct the affairs
of the enterprise in such a way as to
maintain an equitable balance among the
claims of the variously interested groups.
In the mid-sixties and early seventies we
have again recognised changes in
philosophy that reflect management’s
gradual assumption of its moral and social
obligation of good corporate citizenship.
We see it, for example, in management’s
assuming its social responsibility by
cooperating with the federal government in
withholding goods from countries if those
goods would jeopardise our national
security; in maintaining prices at a level
consistent with a healthy economy, not
raising them to a point considered

critically inflationary; in training the
unemployed; in cleaning up city ghettos;
and in recognising and acting upon
pollution problems. More examples could
be cited, but the point of the broadened
view taken by management of its total
responsibility has been made.

46. Raymond Moley advocated
management’s responsibility to

(A) owners of organisation only

(B) owners and employees only

(C) owners, public and labour

(D) owners, public, labour and
customers

47. In view of Lapham management
must take care of

(A) investors only

(B) stockholders and employees
only

(C) stockholders, public and
customers only

(D) stockholders, customers,
public and employees

48. Abraham is of the opinion that —
(A) it is difficult to satisfy

variously interested groups

job management is to conduct
affairs of enterprise

there should be a balance
among the interested groups
None of the above

(B)
(©)

(D)

49. Which of the following is not a part
of corporate social responsibility ?
(A) Controlling prices to prevent
inflation

(B) Training of employees

(C) Acting upon pollution related
problems

(D) Jeopardising the security of
nation

50. Corporate  social  responsibility
comprises of the following :

(A) Moral obligations of an
organisation

(B) Social obligations of an
organisation

(C) Moral and social obligations of

an organisation

(D) None of the above
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e TT=ITST i ufed T W9 W& 46-50
%Waﬁq:

TEHH IRIHE Tgd TG F HASTHE A
SIHTHYUT TTh FYUT ST i 3T W E € |
%M T 91d W g1 2 % uh Afqew sas
TeRfed AT | HITGTehl o UTd Hewefehl o GUIHTNT
T & AT, Wik gloeed & LEaTs & ®
o Ykl T TS Sed HHEIRET, TEsh a9
TOEE % Ud B & | A% g9 w9 ¥ feur
T ST o 3 TR Tal W Feesm=d: &
T e A | Aoy, T 1930 % I & 7 H
ScATETdS ohd el TR & T | ST,
1937 ® WU Ot F FeT fF SRl e
AT Tef Aiceh ®9 | a1 % Wi Tsie
o T T I HIAT @, Fal Sl q°T HrHeh o
Ufq 3T T5ediae JMae STUeTHa 5 T |
T TR oY o1% AR S HA SR ST el
T ToRTAhTeT o WehloT 31 H HASTHS T halel
319 HifeTeh! — 3T Wih-glosd o Uid STREA!
AT ST &, U] Ueh Toehiad &Il g U0 T
off T =Mk 319 § 379 TMEhl, ST T 379
FHHARAT o Ul e Teet e & | 8 1951
T I Foram QeI & o o7 7T Sheh STeTed
3, TEE Ty e | foiad gu Uk 79 39 &l
gfaaea foran, & 3= I8 IR feRn T
BSTHE T 1 WIS & HTHe o1 Sareld 29
AT T AT e R 3TerT-31er feal aret
Tt % AT TH AEET Gqe 9 W1 9
1960 o TITeh o T qAT 1970 T T o TRET
FT B eH 9 H URacA gieemier giar & S
TASTHE N1 3109 STH AN TQiesHRT &
ik qeT WIS SIfIeT I IE: €ROT
ST I ATATIed AT & | HASTHE FRT |1
T gROT FA & ISP IO &, o IS
TS AEIAT 1 TR hdl 9T H Ao F T
TRRT & TeTT G i ST &1 af FE ThR
% Q1Y TEANT FIA gU BSTHE GRT 3 Wi
I 3 I H S5 W A T HiFal i Th
T AIHIET & W TR T TG a7 3
39 &g 9 SO T SSMT S AR w9 9
HETERITT T HROT &, TaT ST ol ATH-G2T
3R 3% R A o U HAT | TqH Fairerd
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3T SRTEXUT 53 ST Fehdl €, W LT BsTHE
% M ¥ Heifed =Ames [gar a8t W foran
TATE |

46. THUS A 7 fohgeh Ufd HATHE & Siaeel
! THTAd ol T ?
(A) haet TS o HIfeTehl & Uid
(B)  haeT HIfcTeh! T SHHTRET o UTd
(C) HicTehi, ST T STHeht o fd
(D) HIfeTenl, ST, SIHehT qeT TEehi

wfe
47. WEH F AR TS I FErAnEd §
T fohge &1 T =Te ?
(A) Haet FeeTeRt F
(B) hacT LIk Bl ol SHHTRAT i
(C) haet Wi eleed, ST a2l UTehi
=Dl
(D) W goed, UEH, ST ao
AT
48. % 3TEEH & foaaR @
(A) 3TTT-3THT feall At o i I
FATHSAE |
(B) TeSTHS T M WA= & HHA
T G & |
(C) fedi =met ot & o= Tk HeH
T AT |
(D) TTH I ST T |
49. TAfREd § ¥ i HURS FHENSH
T ol 9T T2l € 2
(A) ST THIfT Ak & few higal ®
0T ST |

(B) ShHERET sl UTETOT T |

(C) URHOT Faeh gHw@eT H g A
& U AT |

(D) 39T i TR&T T Gl § ST |

AN QHISTR FMiored § Ffaiad 3 &

F I & 2

(A) TS G &l Afdeh g |

(B) U TS Sl WHISTH I |

(C) U TS 1 Afdeh qT QISR
T |

(D) TTH & ST T |

50.
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